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Bapwuanr 1

1 X2y'=9x2-5xy+Yy?

2. (1+ xz)y”—2xy' =0

3 Y= 1ty’ %=1
xy{L+x?) y,=1

4. y"+4y'—12y=8sin 2x

5. xy'-y=3x*-3

Bapuant 2

1 xy'—y=x2eX

N

5y"=2,y'+1
3 x3y’=y(y2+x2) X, =1y, =1
4. y'+4y=e—2X

5 y=—Y 49
y X+2
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1 xy'+y=x8

N

y"—(y'-Lkctgx=0

x0:2
Y,=0y,=1
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3 Xy” — y

4. y"+5y'+6y=12c0s2xX

5 . 3xy =3y +—
y y1+x2

BapunaHTt 4

1xy'+y=e"%

2y"+(2y+5)(y')*=0

3. xy'=e Y 42y y(€)=0

4.y"—4y"'+13y=26Xx+5

5 .3xy'-3y=2x*+1.
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1xy’ —xy =eX

2y”— 1_yI:O

3y'—y=eX  y(0)=2
4. y"-2y'+y=16eX

5 .y =" 14p2-1).
x-1
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1 X2y'=y?4+3xy+X?

2y"=2(y')?ctgy

3y'=4y, y(2)=4
4. y" -6y +9y=%x2—Xx+3

5 2xy =2y + -
1-x?
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1 (L+eX)yy'=eX

2 x2y’+ y2:0 y()=1

3yYy"+(y)?=0
4.y"—2y' +5y =xeX

5 5xy'-5y=2x+1.
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1. x2y’:9x2—5xy+ y2

2. (1+x2Jy”—2xy’:0
3 y'=

xylL+x2 Yo=1
4.y"-5y' +6y=(12x-7)eX

5 xy'-y=3x*-3
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1 xy'—y=x2eX

2 5y"=2\/y'+1

3 x3y’: y(y2+x2j

4. y"—4y' =6x2 +1

5 . 5y'=ﬂ+4x2—4.5
X
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1 xy’+y=x3

2 y"—(y'-1ktgx=0

" ' )(0:2
3 xy'=y

Y,=0y,=1

4. y"+6Yy +9y=10e—3X

5 2xy’=2y+xcosx.

X, =1
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1 xy'+y=e"%
2y"+(2y+5)(y)* =0

3.xy'=e Y 42y y(€)=0

4. y"—5y' +6y =—e°X
5. 3xy’=3y+5x.
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1Xy'—Xxy =ge*

2y"—1-y"'=0

3y'—y=e*  y(0)=2

4. y"+2y' =6e2X

5. xy'-y=3x*-3



Bapuanr 13

1 X2y'=y2+3xy+x?

2y"=2(y")?ctgy

3y'=4y, y(2)=4

4. y"+4y'—12y=8sin 2x

5 y’:i+9.

X+2
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1 @+0X)yy'=ex

2 X2y'+y?=0 y@)=1

3YY'+(y)?=0

4. y'+4y=p—2X

5 3xy'-3y=2x+1.



Bapwuanr 15
1 x2y'=9x2 —5xy+y2

2. (1+x2]y”—2xy’:0
3 y'=
Xy X2
4. y"+5y'+6y=12c0s2x
5 . y’=%1+4(x2—1).

Bapuantl16

1 xy'—y=x2eX
2 5y"=2,/y'+1
3 x3y’:y(y2+x2)

4.y"—4y"'+13y=26X+5

5 2xy'=2y+ X_
1-x°




Bapuanr 17

1 xy’+y=x3

2 y"—(y'-1)tgx=0

x0:2

3 Xy”: yl ’
Yo =0,¥5=1

4.y"-2y'+y=16eX

5 5 b5xy'-5y=2x+1.
Bapuanrt 18
1 xy'+y=e"X

2y"+(2y+5)(y))3=0

3.xy'=e Y 42y y(€)=0
4. y" -6y +9y=%x2—Xx+3

5 xy'-y=3x*-3



Bapuanr 19

1 xy' —xy=eX

2 y”_ ll_yI:O
3 y'-y=eX  y(0)=2
4.y"—2y +5y =xeX

5 5 . 5y’=ﬂ+4x2—4.
X
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1 X2y’ =y2 +3xy +x2

5, Y'=2(y)?ctgy

3Y'=4y, y(2)=4
4.y"-5y' +6y=(12x-7)eX

5.. xy'—y=3x*-3
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1 X%y '=9x%2-5xy+y?

2. (1+ xz)y”—2xy' =0

3 y'= L+y® %=1
xylx?) Y, =1

4. y"+4y'—12y=8sin 2x
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1 xy' —y=x%eX

N

5y"=2\y'+1

3 x3y’=y(y2+x2) X, =1y, =1
4. y'+4y=e—2X

5 3xy'=3y+5x%°.
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1 XY +y=x3

, Y =(y'—1ktgx=0

x0:2

3 xy" =Yy ,
Y,=0y,=1

4. y"+5y"+6y=12c0s2X

5 y=—Y 4o
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BapuaHTt 24
1 xy'+y=e"%

2y"+(2y+5)(y)*=0

3. xy'=e Y42y y(€)=0

4.y"—4y"'+13y=26Xx+5

5 3xy'-3y=2x*+1.
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1xy’ —xy =eX

) yll_ 1_yr =O

3y'—y=e*  y(0)=2
4.y"-2y'+y=16eX

BapuaHTt 26

1 X2y'=y2+3xy+x?

2y"=2(y')ctgy

3y'=4y, y(2)=4
4. y" -6y +9y=%x2—X+3



Bapuaut 27
1 (L+eX)yy' =eX
2 x2y’+ y2:0 y()=1
3yYy"+(y)?=0

4.y"—2y' +5y =xeX

Bapuanrt 28
1. x2y’=9x2—5xy+ y2

2. (1+ szy”—ny’ =0

3 y'= 0
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4.y"-5y' +6y=(12x-7)eX
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1 xy'—y=x2eX
25y"=2y'+1

3x3y’: y(y2+x2)
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1xy’+y=x3

, ¥ =(y'-1)tgx=0

x0:2

3 Xy”:yr ’
Yo =0,y =1

4. y"+6Yy'+9y=10e—3X



